LB 1RARFRIRAR

TH1 RIE &M BERES

EsEm XL H4E/HIE, NOVOSTRICTIVE MUEH A
THHER, “xi{EHE, T/ESERIE 4250 mm

B EEN

s

ol RS IR v I B A

o AEBEE R B MR R EE, NOVOSTRICTIVE® &+ A
LR 7 UE W Al

o TCHLAR B, TCRR B

o FRUEHLIELE S BB RS S

o TEEMW ATILE

o RVEfRS, fmimlik 50 pm

o KW TAEERK/, PFREF A 0.001 mm
o JRJERBAE, <30 ppm/K

o Bl s PRSI PERE R S

o Ak H LA B

o PiitnZ:4 IP67 / 1P68

o TAEMEJy IR s ik 350 bar

o ELpAIE [l 222 7 i A P TR B i Tl 4R

1

i NOVOSTRICTIVE® 4
2 o X0 S50 Mo 2 T e ARV £
AR AT R, AR = &
&5 A B R AT
GO0, st Hu R,

I &2 5o P2 3 1o 1 I F% 8 O
RIREIA LB, O BUREIN 27
AR, JEEmMI T %
LEINEAE, JOBHIREER
6 TC IR LA 55 i i B 1) T
FREIASR R, TSRS
ik 4250 mm,

HI T SR SE 2E Y I R
B 58 3R M BT RO 28 Y JER
B, AL R TR B R RO
R I R B R AL, 5
WA S5 & 2% 08 LR 5
JEEWE RS R AR b
i FHLR ST RE .

e R R B FL VAR
A R RAE A R ) R L AN
SURGELHN . FEE R O B
AR AR A O A

novotechnik

Siedle Group

e & & I ASIC £
NGRS T AE PO R R R
5.

B B2 A3 Ao e PO A5 400, 5 P
LA S A, PRSI
[l 4 847 8: 1 (24, 25 5 26
AL ) PL K SR 3 / 158 1k Jhk o oix g
WREBO, LA REES
W R DhRE R = MR A A R AT
“DyMoS®” M,

HoAl# N 2 ISR B AR
Bkt

BB
Ap 5 BAARAAALER, WHE: S
- 16 1806149 Frifi IR M18x1.5
T B Wk O MRLIR
WA NOVOSTRICTIVE® 4 e s 1l 5 ffr 45 I 42 5t 2
WA 8 # M12 x 1 B b4
8 #t IEC130-9 [ITE Bt i 3
6 £l IEC130-9 [T B e 3
8 % 8x0.25mm2 PUR/PVC b iidi, K 1%, 3k 5%
W2 ¥ ASIC If) 5 B i SMD

155 5 U DR 2 1 He B 1 iR 2R 5P 5

AR B R Ah e

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



SW 46

LB lRARFRIRAR

novotechnik

Siedle Group

B RO NG EREELES
2R354, SePl Teach-In ZhfE (T
TEEfRiEE) .

- T s Z-THi-Pi8
i M
g M18x1.5
3
| r]]]]l{ mm
S 5
2 S
N (1) =
il
=
M16x0.75
WHESEEAR
sk EHBYEmE TSRS EEED EIEREO
%5 101,102 %2 201, 203, 205 EEM 33-86, EEM 33-87 ik R
b 1 Ao Z1c) 0(4)...20mA 2
£ 2 TR AR Fi 55 55
£ 3 B 23u) % +10...0(-10) VDC
EH 4 HRu) o DIAG* DIAG*
£ 5 e TR A % 0(-10) ... +10 VDC
£ 6 W Bt HL 5 HL
7 kit i) +24 VDC +24 VDC
i 8 E1C) R PROG* PROG *
sk EEED EIEREO . i
HE 103 BE B *) B TR Teach-In ThEEAE: T (& WARIETI ).
F 1 0..10VDC 0 (4) ... 20 mA
£+ 2 [ERe2:1) 55
£ 3 10...0VDC 2%
4 LiERTz8:0) L
£ 5 +24VDC +24VDC
£ 6 LERS: 1) LERTS 1)

TEL : 400-900-8812 BT : 18017400327 www.jjx88.com

2

luck@jjx88.com



LB 1RARFRIRAR

novotechnik

Siedle Group

BSEX TH1-___ - _-41_- TH1-___ - _-42_-___

BB EESHEH EERERESHEH
WS L
R~ T
FrifE TARRRRTEE (RSFL) KB 0050 % 1000 mm, 4F 25 mm #34; K& 1100 & 2000 mm, 45 100 mm 234 K 2250 & 4250 mm, 4§ 250 mm #6314,
T 4R 5 S AR AR R e
BESH
TAeRF L) 0050 % 4250 mm

<+ 0.02 (fe/h £ 50 pm) = % FS

+ 0.5 (/b2 x wEEH) mm
WilES R HLIE

0.1...10VDC ( fi#k > 5 kQ) 0.1...20 mA (fa#k < 500 Q)

4...20 mA (1% < 500 Q)

Vig =3 16 £
QS5 <0.03 % FS
e <0.01 %Fs
TAERE 24 (19 ... 30) \
TAER R ) <10 % Vss
WL FE <100 mA
S KA LR % 16 kHz
LI R EL <30 (/) 0.01 mm/K) ppm/K
PR 40 (PR / 1 min.) \
MePEdR, R R PR Up 10 Unnax v
{5 54 O 4n Up t0 Unax vV
42 BiLHi (500 VDC) >10 MQ
MRS
AR e -40 ... +85 °c
it ek i S 9 B -40 ... +100 °C
AR 0..95 (FcikikE) %R.H.
HidRsh ki (IEC 60068-2-6) 20 (5 ... 2000 Hz, Amax = 0.75 mm) g
Bishidibrde (IEC 60068-2-27) 100 (11 ms) g
B A e (S
MTTF (ISO 13849-1, Ffu#kfssl FHke) 28
Difiede aE gk IHEA E] G F R RGih, WEBRRA
Bid1%:4% (DIN EN 60529) P67 afifr BBk ;

IP68 EL i HL 4k
ERRZFAMRE NI S
R BE A
B AR < 350 bar
JE W AE <600 bar
WRET > 700 bar
i 1A U S I B B KA IR 10 ms’
i 1 A 28U 5 T B dpe KA iR ek 200 ms?
i /& EMC rife EN 61000-4-2 electrostatic discharges (ESD) 4 kV, 8 kV

EN 61000-4-3 electromagnetic fields: 10 V/m
EN 61000-4-4 electrical fast transients (Burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 61000-4-8 Power frequency magnetic fields 3 A/m
EN 55011/EN 565022/a1 Radiated disturbances class B

*) B AT, PIERRET RN T R,
*) &M channel 1; channel 2 4axf 2k itk iR 3k s, WHAREYLAEH Z-TH1-P18 / Z-TH1-P19,

3

TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



LB 1RARFRIRAR

$32
24
Q)

e L[]
@25

~
0]

Z-TH1-P18 Z-TH1-P19

EEM 33-84 EEM 33-85

1T HA% 15 AR

TNFESCF R E MG, 3T UCERBH N 2
IEE AU N 2

IEEREEE
FRifER g 50 & 4250 mm

) L

102 BEEUHE M 18x1.5, kLA 4E 30 mm &b
104: WRZLP:E M 18x1.5, FildAfE 51 mm &k °
106: [Wl 102, {HJHE FEsAH Mdx6 MIZFLIESBMHEZER 7.5 mm
108: [i] 104, {HIHEECHEH MAx6 MIZFLIE S EFE K 7.5 mm

BsED
4: BUREN

BHEWMHESEO4__
1. R

R ERHED 41_
1: 0VDC...10 VDC Al 10 VDC ... 0 VDC

B ERREHED 42_
1: OmA ... 20 mA °
2: 20mA...0OmA
3: 4mA ... 20 mA
4: 20mA ... 4mA

S ERE

102: 8% M 12x1 Pk °
103: 6 £ IEC130-9 il4:3% .
201: NT bidiiagi1 kK °
203: NT hrifgs 3 %
205: NT brifgi 5 %

4 11 - 1 0 2 °

EERT

DG AT DRI R R A B, AN R Dl S L

4

Ay

novotechnik

Siedle Group

27

26

EEM 33-86 EEM 33-87

wEHEHE (ERMTHE—)

O ®IRE¥ Z-TH1-P18
I . 005697
O MR Z-TH1-P19
PR gR . 005698

2 SR ) LA 1 Bk

2. WkEIH e

8 %I IEC 130-9 B #:J
M5 . EEM 33-84
6 £l IEC 130-9 B #:J
5. EEM 33-82
8 % IEC 130-9 254
1. EEM 33-85
6 %l IEC 130-9 254
M5 . EEM 33-94

8 x 0.256mm?2 PUR b iz HL 4%,
101: 8 # IEC130-9 Bl % it 8 FF M12x1 MEL =k,

2kMsi, A5 EEM 33-86
5okHigi, #S. EEM 33-90
10 kg, #1%5 . EEM 33-92

8 x 0.25mm?2 PUR i iliz HL 4%,
8 & M12x1 sk,

2 kHigy, #Y. EEM 33-87
5okHidi, #5. EEM 33-91
10 krads, #% . EEM 33-93

N M18x1.5-A2
5. Z-TH1-MO1

TR 2 SR AT E Hl 7=

P4l 10 ok

Boy. WE, MbEageEn
HABHLEZ5 44

e WRECHEE 3/4"-16UNF
(5 DXL B A SRS )

© 02/2014

e,
A BAITEAL

TEL : 400-900-8812 &BX : 18017400327 www.jjx88.com luck@jjx88.com



